==
N & O &8 AF S H Al A
2020 204 YB3 DEHH D
SN DEHHD
M DER(NSYSF/UELS - 2RSIIE
ool DEAT (9l &)
- _ _ HEAS
SA - ZH - AA(3) - MIRAY - BHAS Ol &k OH 01l AkoH Hns2
NEHHD 21,304,367 20,901,651 402,736
= 43,900
2 145,164
= 369,835
Al 20,745,488
DED(WELSS/UELE - 225IEN 15, 186,604 15,248, 134 £61,530
2 43,900
2 145, 164
= 369,835
Al 14,627,705
nEHT 3,061,256 2,544,910 516,346
=2 43,900
2 93,000
= 34,530
Al 2,889,826
nEYL 1,745,156 1,665,810 79,346
201 Yuk2y| 6,230 6,230 0
01 AR 22IH] 6,230 6,230 0
ONSFENUSIAE BA 4o
70,0002 * 8% * 13 560
ORBBAINLAE &M S
70,0008 * 6% * 13] 420
OSARISINEG] &A 25
70,0002 * 78 * 13] 490
ONEHH 222 M 3,800
~DE P E2S A 2002 * 7,00004 1,400
~DE 2 B2 a0t M
60,0008 * 40| 2,400
O02 U BIETSTIZL| 5I01E, HAL S ol
30020 * 1,6000H * 2% 90
207 AN 54,000 199,000 A 145,000
NEEEEE] 54,000 199,000 A 145,000
OAUHA QISEHZA U 2L} AF BY
19,000,0002 * 141 19,000
O%Xled DEBFA B
8,000,008 * 23l 16,000
OXDELT 0|SHOIZENE 8
19,000,000 * 14! 19,000
301 YPHBHD 99,750 0 99,750
12 JIEI2AS 99,750 0 99,750
OWEHETZ0| 2
35,0008 * 152 * 1902 99,750
307 212+0| & 1,585,176 1,460,560 124,5%
02 DIIBAAIEE 26,600 26,600 0




2N NSy
M. NEAN(WESLEF/USWE - EFSIIEH
el nSEA (G2 &)
i _ - A
2A - 3 HR(SH) - NISAY - BES O AkH '@Eou Hwns2
OFXEM DIZ2tE=E HCEs XJA(EXE 80%)
375,000& = 10 = 128 = 80/100 3,600
OEENSZS &= & NSEN = XA
20,000,000& * 14| 20,000
O0el0l Sot WsSKE ¥ HEEs KA
3,000,000& * 14 3,000
05 oIt &g 392,000 333,900 58,100
OSgussH 02fE 29|
49,000,000& * 8CH 392,000
09 2P HEEXS 1,166,576 1,100,080 66,496
OHA, 8Al 0|8 SFAIEHE EE(EXE
X OH) 588,360
—&AHA E82H]| 100,000& * 65CH = 12& 78,000
—NAIHA SHEH| 300,000& * 65CH * 13l 19,500
—EAl 22| 80,000& * 486CH *= 12& 466,560
—E4Al SHEH| 50,0002 = 486CH * 13| 24,300
OusIE 29 NI(BExs YY) 444,080
—WSIHEAE ol X|I&A
100& = 1,800,0009 180,000
—WSIHE ABsg K&
2,000,000,000& * 15/1,000 30,000
—nSIHe s A
1,400& * 130,000 182,000
—nSIHe S| FAEH|
70,000& = 620 » 12& 52,080
OEAl IIEZHD| & 29 XIH 134,136
—IJIEZHMD| S SAANER
11,000& * 486CH = 12& 64,152
—IIEZMI| A EE
12,0002 * 486CH + 123 69,984
(2)SSHEAl NSAS 243,000 250,000 A7,000
iy 63,000
Al 180,000
301 LEBEZ 243,000 250,000 A7,000
= 63,000
Al 180,000
12 JIEIE A3 243,000 250,000 A7,000
OZSSEHYA XNZAI (A=A 29 24)
243,000,000& = 14| 243,000
= 63,000
Al 180,000
(2)SSEHA XIZAA 300,000 0 300,000
= 30,000
Al 270,000
307 Q1201 ™ 300,000 0 300,000
= 30,000
Al 270,000




SN RSB
o DSpel(DSYSR/HELS - 2RSIIE)
ool DEHX (SH9): &)
) NET -
SA - 2 - SRA(BIH) - MRA - = Ol &kt Ol AFou HnsSZ
09 S HEES 300,000 0 300,000
OBZEHA X 300,000,002 * 14! 300,000
2 30,000
Al 270,000
+9SE8 (FLS ALY 7% U 29 3,600 3,600 0
308 XXISHHISOIH 3,600 0 3,600
11 B HSIE B AR ASAISH] 3,600 0 3,600
OZZEUA SEB2IA2EY R 22
300,002 * 122 3,600
(R)FALEDSIIE 22 01L2IX K 2,000 4,000 £2,000
= 1,000
Al 1,000
308 KXISHHISOIH 2,000 4,000 £2,000
= 1,000
Al 1,000
11 B RSB AEAS A 2,000 4,000 £2,000
OLEDEIIE 22| DLIX X2
2,000,002 * 14! 2,000
= 1,000
Al 1,000
(S) DYRSH G| RIS OIMIE|S 15,000 14,500 500
= 4,500
Al 10,500
301 LBBFS 15,000 14,500 500
= 4,500
Al 10,500
2 JIEr2aE 15,000 14,500 500
ODYNSTHG KT IMIEI2
100,002 * 150% 15,000
= 4,500
Al 10,500
(2)SAIAIZ AT 752,500 555,000 197,500
2 42,900
= 30,030
Al 679,570
301 LBBFI 752,500 555,000 197,500
2 42,900
= 30,030
Al 679,570
12 JIEH2 A 752,500 565,000 197,500
OSAIZRIBARIRAY 752,500,008 * 141 752,500
2 42,900
= 30,030
Al 679,570
2aAe 22l 10,377,246 0,345,942 31,304
2 52, 164




2 NS
M NEA(NSLER/UELS - 2RSIIEY
ol 2EA 22 CERE)
i, HNEE ~
SA - 3. () - NIRA = O AkH ‘@EOH Hlns2
= 236,305
Al 10,088,777
28 28X 5,108,604 5,108,604 0
307 BI2H0| A 5,108,604 5,108,604 0
09 2+AHEXS 5,108,604 5,108,604 0
O2L=AMEL RIIBEXZZ(BEXE HN) 5,108,604
—HA 380.09& * 1,500,000 £ 570,135
—EHA 197.97& * 3,900,000 £ 772,083
—32 345.54& * 10,900,000 £ 3,766,386
b2 aze| 4,250,000 4,267,580 217,580
307 2I2H0| A 4,250,000 4,250,000 0
09 2+AHEXZ 4,250,000 4,250,000 0
OsHEHA Hleod Z&E8X
4,000,000,000& = 14 4,000,000
OA HUQIH AN 2 ZEEX
250,000,000 * 14| 250,000
(DIAUHE SHEHASSAIITHE XA 328,032 348,204 AN20,172
< 164,016
Al 164,016
307 BIZt01A 328,032 348,204 N20,172
T 164,016
Al 164,016
09 28HELS 328,032 348,204 N20,172
OANU & sHEHA HE & Z&X
328,082,000& * 14| 328,032
T 164,016
Al 164,016
HAHEAIAE2H 220,094 92,843 127,251
201 23| 3,288 3,294 YaNG}
02 3523| 3,288 3,294 Ya\G}
OHAEBOHYII(BIT) &IIQS
274,000& * 12& 3,288
308 AtXISHMSOIA 106,806 89,549 17,257
11 S| 2SH B AN E ALY 106,806 89,549 17,257
OHAXBAIAE(BIS) RXIE44I
106,806,000& * 14! 106,806
403 XEXISHMSKH=01H 110,000 0 110,000
02 SIIASOICHSHAEH R E AR 110,000 0 110,000
OHAFEZOHNII(BIT) ARl AMY
11,000,000& * 10704 110,000
(D)sHESIHARURA 180,000 0 180,000
T 31,500
Al 148,500




Sk DESFD
M DE(NSYSF/UELS - 2RSIIE
cHol: 2aA 22 (9l &)
% s T AT =
S - 3 - R(SH) - MRAY - BAS Ol &k OH O}l AkoH HwsS2
402 Q12201 180,000 0 180,000
= 31,500
Al 148,500
02 DIRIXTE AT B Z (01 E M) 180,000 0 180,000
S0jE YA AN
60,000,002 * 3CH 180,000
= 31,500
Al 148,500
(DAL =01E HA HHEXXIR 60,000 120,000 60,000
= 10,200
Al 49,800
307 2I2HOI 60,000 120,000 60,000
= 10,200
Al 49,800
09 2+82x 60,000 120,000 60,000
ONUSOEHA HHEHT X2
15,000,008 * 4CH 60,000
= 10,200
Al 49,800
SHASHEDRRIAAY 2 6,505 5,316 1,189
308 XHXISHRISOIF 6,505 5,316 1,189
11 201 2S U S A E A 6,505 5,316 1,189
OSNSHHLRZAAL 2% Alihl X9
6,505,000 * 14! 6,505
EE TR E] 175,011 165,889 9,122
= 52, 164
= 2,214
Al 110,633
307 2I2HOI 175,011 165,889 9,122
= 52,164
= 12,214
Al 110,633
09 2~HASE2 175,011 165,889 9,122
O eal X 175,011,008 * 14! 175,011
2 52, 164
= 2,214
Al 110,633
(S) NG AR LK 49,000 0 49,000
= 18,375
Al 30,625
402 Q1201 49,000 0 49,000
= 18,375
Al 30,625
02 = A B (O1E M) 49,000 0 49,000
OSAl FADIZH| MXIXIY
49,000,008 * 14! 49,000




SA: nEsA
Mz NEAN(NEYLSR/UHZUE - 25SIIEY
cHel: 2aAY 2 G=CE-E
SN - BB B - NBAR - BYS Ofl Aot daz MimE==
0l &t
= 18,375
Al 30,625
WEAE BAEH| 1,726,854 2,335,762 608,908
= 99,000
Al 1,627,854
WEAIEZ 2] 1,161,270 1,765,700 604,430
201 LEtEAH| 130,270 112,860 17,410
01 AFR2teld| 11,000 1,000 10,000
QUECHNAIES HX| AMLIEE (842 EEE2)
50,0008 = 203 1,000
ONlS)|, 2ES AeiEd & 22|t &
10,000,000& * 14! 10,000
02 =224l 119,270 111,860 7,410
s s dMIIe=2 7,500,000& = 12& 90,000
OFeIE=ItHIet RAI22l 29,270
—JI|IZABI(AE, D)
2,000,000& * 5CH 10,000
— D12 A () 1,300,000& = 10CH 13,000
-z 27,500& * 19CH = 12JH& 6,270
401 AlEH|L 204 1,031,000 1,615,040 584,040
01 Al&HI 1,026,000 1,605,040 579,040
O&L dlSD| SAE 800,000& * 100JHA 80,000
OJIEEX] O|HER HY[(LHEM U HH S)
30,000,000 * 14! 30,000
OXMSHONI| 10,000,000 * 404 40,000
OsskIs)| B 400,000& * 1504 6,000
OLs Als)| W2 &= WA
20,000,000 * 44 80,000
OLHEAl MHEAH AHH| 380,000
—GF=AIJHX 360,000
= 30% 4,000€ = 35,000m 140,000
< HIPTE 70% 2,0002 * 110,000m 220,000
—LHIEAl 2188 20,000
SEHIAl MAIN)
20,000,000& * 14 20,000
OZH NSOHMEXE A2
105,000,000& = 14! 105,000
OFo=EXE s 224 WA
5,000,000& * 20004 100,000
OLsuEEXE WA 35,000
—LHOIA!] 2,000,000& * 104 20,000
—&8FA S 100,000 * 150002 15,000
ODNHEA! oI Ch= XH| X
50,000,000& = 2004 100,000




oM DEHED
Mz NEAN(NEYLSR/UHZUE - 25SIIEY
chol: DEAIM BAFY| (el &)
SN - BB B - NBAR - BYS Ofl Ak dEs MimE=T!
0l b2y
OoFgs &S A4 L uXl
1,000,000 * 20002 20,000
OHA s&8& & 50,000
—=&8 HASSE 10,000,000 * 502 50,000
03 A& £0HY| 5,000 10,000 A5,000
OuUSOHEAIEE S &X & |FXNES
5,000,000& * 1A 5,000
WSEA EE 235,584 198,062 37,522
101 2124H| 89,564 85,035 4,529
04 JIZtHI2EXNSES 89,564 85,035 4,529
O2Y F=EIXF ¢4H018 87,644
—Ool£e] 73,2803 * 4H * 240 70,349
—F=54 73,2803 * 4% * 48 14,070
—2XE== 73,2803 * 44 + 11& 3,225
O=28 =HX &t 012 TI=H[(D124HAI) 1,920
-5 150,000& * 4 = 1= 600
—ol= 100,000& * 4Y = 1= 400
—OtN 3} 100,000& * 4Y = 2% 800
—2x 30,000& * 44 * 1=t 120
201 LEt2AH| 107,020 99,527 7,493
01 AtR22teldl 15,983 15,983 0
O=Y =FXt S5 A o1y 5,390
—CE=T 130& * 3,0000H 390
—2BALA! SXIAM 100& = 10,0000H 1,000
— A E XA 100& = 10,0000H 1,000
—HE2XA 100& = 10,0000H 1,000
—SE(HY) DKM 100& = 10,0000H 1,000
—2d2SKA 100& * 5,0000H 500
-2 SEME 100& * 5,0000H 500
O=Y =X ¢ 012 [=H(ARE) 2,940
-== 150,000& * 6Y * 1= 900
—ol= 100,000& * 6Y * 1= 600
—QOtM 3t 100,000 * 69 * 2% 1,200
—9| 20,000& * 6H * 2=t 240
ONESEMN HE 5,500
—38 60,000& = 100 * 53 3,000
et =0 )l 5,000& = 2000H 1,000
—=HI2X EE Mt
100& * 35 * 5,0000H4 1,500
O=28 F=AIX S8 UBLZ2H|(GFS
HEZEXE) 653
—SI&X 7 10,000& * 128 120




2AN: nS#ID
i DS2e(nsSLSF/UENE - 2FSIIE
&Rl NSAlE SZEH (el &)
S - B ERI(SH) - MISAY - BAS Of ko cla SimE==]
—EHAES 7Y 10,000& * 38 * 12& 360
—MeDI=SE(5014) 7203 + 0% + 123 173
O=28 =FI xt& Aelh| 50,0002 * 30CH 1,500
02 23222l 91,037 83,544 7,493
O2Y F=HX ROICHEAIARI(CCTY) &2
20,0002 » 24CH = 128 5,760
O2Y =X ROITSAIAE(CCTV) SAAES
100,000& = 24CH = 12& 28,800
OBY TN HE LY ALY ZUEH ¥
SHAEZ 3,120
—SHH A= 110,000& * 12& 1,320
—StAEZ 150,000& * 12& 1,800
O =EX RS Jilllet RXE= 38,904
—2DFA CCTV 110,000 » 24CH * 12& 31,680
—0l=s4) CCTV 301,000& = 2CH » 12& 7,224
OSHHX| Xtg2e| MAZZ2)H |
300,000& = 12& 3,600
OSY=FEX HEHAAE RXE
550,000& * 123 6,600
O2Y =Xtz & SR I 2A
DIN SERI 4,253
—RH HER3 4003 * 38021 * 12& 1,824
—S)|RH BtERa 25308 « 802 * 128 2,429
401 AIEHIZ 048I 39,000 5,000 34,000
01 AI&ZH] 39,000 5,000 34,000
O=8 =EX=XNEXE 4
5,000,000& * 14! 5,000
O=2Y =X DFA HHAIAE(CCTY) Hs
INE (200 A) 17,000,000& * 24 34,000
() NSHMAIE B S AN 330,000 372,000 242,000
= 99,000
Al 231,000
401 AIEHIZ 20HbI 330,000 372,000 242,000
= 99,000
Al 231,000
01 Al&HI 330,000 372,000 242,000
O2=28 g2 41X
18,000,000& * 2JHA 36,000
< 10,800
Al 25,200
OHIHE 28A5S x|
15,000,000& * 4042 60,000
= 18,000
Al 42,000
O=Rolctk= (1t 2 AS)Stdiet X
32,000,000& * 2JHA 64,000




2AN: nS#ID
M NEA(NSLER/UELS - 2RSIIEY
CHel: MEAIM BT (Sr9): @)
= I (=] = 1 @EE =
_I_}d * I-IIH EI"I‘I(S’—IJ:") * k"—l—AI'g * ‘Egg 01|AL_I-Q|H 0:"&.0” HIDLSDDI'
= 19,200
Al 44,800
OXHEE EE)| &R 10,000,000& * 1JHA 10,000
& 3,000
Al 7,000
OnsSAlsI| WXl &X| 80,000,000& * 2JHA 160,000
= 48,000
Al 112,000
eSSkl 21,248 21,520 N2T72
XL A H 2| 21,248 21,520 N2T2
201 Let2ZH| 21,248 21,520 N2T2
01 At22teld] 10,360 10,360 0
OAUS CIRAMAL 24 7,600
~XSHSE 22 MA
80& * 3& * 7,00004 1,680
—RHSREIIZAL AA
80& * 2& * 7,00004 1,120
—RSRABE AA
80& * 2& * 7,00004 1,120
—ASASE2E BEHS S A4l
80& * 10= * 1,50004 1,200
—AEIHSE 2 Aal
80& * 9& * 1,50004 1,080
—HEI|HEZSA HAS 2,000 = 70004 1,400
ONESEEF JI28HE AREEH| 2,760
—SAEX 7Y 15,0003 * 28fA « 12& 360
—HI2IE ElH(S) 200,000& = 4CH * 23| 1,600
—I2le EH(Zd) 200,000& = 1CH » 23l 400
—sS0IS8J| #=2lt| 200,000& = 1CH » 23l 400
02 S=23| 10,888 11,160 N2T2
OoRERZ 7,288
—gR2IXA 2 68 SIRERS
2,530 * 1204 ~ 12& 3,644
—S)|RH B3
2,530& * 1204 » 128 3,644
SEHRHANSI AHASIIEZ 0 RXIH S|
300,000& = 12& 3,600
HY2HAH(WSHF ) (IIEHIIE 154,783 153,517 1,266
oI 2| 45,063 40,197 4,866
oI | 45,063 40,197 4,866
101 Q124b| 45,063 40,197 4,866
03 SRA(RI|H) 2224 45,063 40,197 4,866
O2Y =Xt &5 REX 45,063
A== 2,349,903 * 18 ~ 12& 28,200




oM DEHED
N AY2IIH(LSHF W) (JIEHIIE)
cHel: olzi=a| (crel: &8
S - R - SRIEH) - ARAY - BAS e G HIDE2
S
2,349,990 » 75% = 198 * 23] 3,525
—gd2+E 2,349,990  50% * 198 * 23] 2,350
—IIESE 1,440
- B A 40,0003 » 1& » 128 480
BYUPNE 20,0008 » 1€ = 122 240
EUPE 60,0002 = 1& 123 720
—ARtelRRsg
13,9002 = 150% * 20AI12H » 19 = 123 5,004
—dx=RaERIeE 10,9008 » 18 » 15 1,664
—ZHaAbl 140,000& » 1& » 128 1,680
—uwSE x| 100,000& = 1& = 128 1,200
=& 109,720 113,320 23,600
Jl=&H 109,720 113,320 23,600
201 ZetEgy| 25,120 25,120 0
01 At22teld] 25,120 25,120 0
OSAEAl 7Y 16,0008 » 20844 » 123 3,840
OS24 7,0008 » 64l = 209 » 123 10,080
Ogttez 100,000& = 12 1,200
OA2 EA7H 50,000& * 12& 600
Oae2 =&l 8,200
—= A =2l 1,000,000& = 1CH 1,000
—ZglEd| el 100,000& = 4CH * 50/100 200
—SAD| EH 200,000& = 53 = 104 1,000
—TRIED|(SY) U
200,000& = 53| * 4K 4,000
—ZRIEII(ZY) E
200,000& = 52| ~ 104 1,000
—PC ==cl 100,000& = 20CH = 20/100 400
—JIEt==2lbl 50,000& = 12 600
OJIEH AFR2t2IH] 5,000& » 20& » 128 1,200
202 04l 79,200 82,800 23,600
01 =LHOHI 79,200 82,800 A3,600
O2tLHAbI 20,0008 » 208 * 122 » 123 57,600
O22| 04| 90,000& » 209¥ » 12& 21,600
203 HRF=&l 4,200 4,200 0
04 EN2S L= 4,200 4,200 0
ORA2HAREAY| 350,002 * 122 4,200
204 [Pl 1,200 1,200 0
01 MRS RAH| 1,200 1,200 0
OX M2 24 A (REUT )
100,000& » 1&8 = 12 1,200




2AN: nS#ID
M NHRES(nSHI)(NELSFR/UEWS - 23SIIEHY)
CH2l: LHREHH K= (el &)
=] X XH . Cl2l( S SA A= A}OH E“C:'—":— Hlm=2t
HRas(nSdd)(NELST/UENS - 2 FSIIEY) 5,963,000 5,500,000 463,000
LHRHHKIZ 5,963,000 5,500,000 463,000
LHEHH XI= 5,963,000 5,500,000 463,000
701 JIEI HEHES 5,963,000 5,500,000 463,000
01 JIEFRIHNES 5,963,000 5,500,000 463,000
O=XEEEH dE= 5,963,000
—=Hl0l HE AlHI 2E= 5,963,000
OHel0lHIOIS& ¥ XIGHEXTE SEAM
ZEAL 3,200,000,000& * 1A 3,200,000
NEATAl F=XEFR LAY
2,763,000,000& * 1A 2,763,000






